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Topic:- General English

1) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Throughly
2. Tommorrow
3. Suprise

4. Strategy

Correct Answer :-

« Strategy

2) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Beawraucracy
2. Democracy
3. Anarchy

4. Parliament

Correct Answer :-

« Beawraucracy

3) DIRECTIONS: Fill in the blank with the correct Preposition.

The sheep are grazing the field.



1. from
2.in
3. with

4., of

Correct Answer :-

4) DIRECTIONS: Fill in the blank with the correct Preposition.
He reads books great interest.

1.on

2.into

3. with

4. along

Correct Answer :-

« with

5) DIRECTIONS: Fill in the blank with the correct article.
My cousin Ravi will arrive from New York in July.
1. No article required

2. the

3.an

4. a

Correct Answer :-

« No article required

6) DIRECTIONS: Fill in the blank with the correct article.

Their baby bears strong resemblance to its grandfather.
1. No article required

2. the



3.an

4. a

Correct Answer :-

7) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. The bells off the church have been ringing from morning
2. The bells of the church have been ringing since morning
3. The bells of the church has been ringing from morning

4. The bells by the church have been ringing for morning

Correct Answer :-
« The bells of the church have been ringing since morning

8) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. Mohan did not borrow anything from his neighbors
2. Mohan did not borrow something off his neighbors
3. Mohan did not borrowed anything from his neighbors

4. Mohan did not borrowed something from his neighbors

Correct Answer :-

« Mohan did not borrow anything from his neighbors

9) DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

Those bananas aren't ripe they're still green.
1. yet

2. but

3.0r

4. while



Correct Answer :-

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

Go for brisk walking.

You want to reduce your weight.
1. If

2. Although

3. In spite of

4. Despite

Correct Answer :-

11) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

She is sad that she win the sack race.
1. cannot have

2. could not have

3. could not

4. must have

Correct Answer :-

« could not

12) DIRECTIONS: Find the word which can be replaced for the given sentence.
A person who is unable to pay off his debts.

1. Bankrupt

2. Affluent

3. Immigrant

4. Legitimate



Correct Answer :-

« Bankrupt

13) DIRECTIONS: Find the word which can be replaced for the given sentence.
A life history of a person written by himself/herself.

1. Prose

2. Autobiography

3. Biography

4. Encyclopedia

Correct Answer :-

« Autobiography

14) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Do you think (a)/ Australia is a more (b)/ democratic country then Britain?
(c)/ No Error (d)

1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

These copies are (a)/ for distribution, (b)/ are they? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)



4. (c)
Correct Answer :-

« (0)

16) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To take the law into one’s
hand ‘in the sentence given below?

Her mother took the law into her own hands when she heard that her child had
been abused.

1. to do something illegal in order to punish someone
2. None of the above
3. to wear the clothes of the judge

4. to lift something heavy

Correct Answer :-

« to do something illegal in order to punish someone

17) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘washed my hands of ‘in the
sentence given below?

That car was a real headache. I washed my hands of it long ago.

1. None of the above
2. ended one's association with someone or something
3. changed the parts and machinery of something

4. got something renewed or repaired

Correct Answer :-

« ended one's association with someone or something

18) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

We were charmed by his boyish manner.

1. disgusted



2. repelled
3. attracted

4. annoyed

Correct Answer :-

« attracted

19) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The desk is three feet wide.
1. broad

2. spacious

3. large

4. narrow

Correct Answer :-
e Nnarrow

20) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The improvement in sales figures had a beneficial effect on the company as a
whole.

1. disadvantageous
2. advantageous
3. favorable

4. similar

Correct Answer :-

« disadvantageous

Topic:- General Science

1) An electric current produces-/ Wﬁ?ﬂﬂ %rmmam—ﬁ%



1. Chemical effect/WWWUW
2. Heating effect/B'NﬂHU‘l-ﬂa

3. All of the above/ JURIe i

4. Magnetic effect/ﬂ@ﬂﬂﬂm-lﬁ

Correct Answer :-

« All of the above/ IURlad g+

2) The air sacs at the end of the smallest air tubes inside the lungs are called-/

a1g B BHs! P iR Yeaan Afie1si & U & §9d gid 3, $eaAd o8-
1. Larynx/ &U&

2. Alveoli/ GTQW

3. Bronchi?ﬂWl‘sf

4. Bronchioles/ STfH3iid

Correct Answer :-

. Alveoli/ a1 HUHIE

3) The process of depositing a thin layer of any superior metal over an object of
a cheaper metal with the help of electricity is called-/ aﬁ'mﬁlﬂﬁ@m

HEll UTg B TP Wl UTg F SR fAgaa it wee | Fafa fear smar 8, 39 o §-
1. Electrometallurgy/ﬁ%%ﬁ

2. Electroplating/ SdagI@ifcT

3. Electrowinning/ SelagTiafT

4. Electrorefining/ SARINGBISHT

Correct Answer :-

« Electroplating/ é’éﬂ@lﬁﬁﬂ

4) Light of different colours propagates through air-/ fUa-fir 30 &1y o9 ag

A S Haika grar &-
1. With the velocity of sound/ g b ATy
2. With the velocity of air/EITﬁ%a'lT@f



3. With different velocities/ fA-fie am 3

4. Having the equal velocities/ THM aT &

Correct Answer :-

« Having the equal velocities/ THE a7 9

5) Sewer pipes are made up of-/ ¥ UTsU §9 gid 8-
1. Cast iron/ PRE AR &

2. None of these/ ST8 I ®Is g

3. Copper/ PR B

4. Aluminium/ TETA &

Correct Answer :-

. Cast iron/ ®RC 3MRA

6) A force that opposes the motion of one surface sliding over another is

called-/ % Hag ®I a3 9ag W e W 1fd 31 faRiy S+ aren 9 &-
1. Ball bearing/aumﬁl'rﬁﬂ

2. Lubrication/ Hgdl

3. Friction/ oo

4, Newton/ =Jcd

Correct Answer :-

e Friction/ oo

7) The pH value of the solution in which a particular amino acid does not
migrate under the influence of electric field is called its-/ g & 39 pH qE &t

HIT HgT oA ¢ Ford W fagaa &7 & yuta # ydia T sra &1 Sifra= =181 g 32
1. Effusion point/ ﬁ:wﬁg

2. Neutralisation point/ SaRIHI®RUI fog

3. Isoelectric point/ﬂﬂa@ﬂﬁv_g’,

4. Eutectic point/ gefdes forg



Correct Answer :-

« Isoelectric point/?l'ﬁla'g{q?rﬁ'_g

8) The maximum distance of a vibrating body from its mean position is called

its—/ PIOIRNE IEg Dt ST AT ATRIT H RIFHaH gt Hgard! o-

1. Quality/ U<
2. Frequency/ 3fIgf
3. Amplitude/ 3ITH

4, Pitch/ dR«d

Correct Answer :-

o Amplitude/ 3H

9) In a neutralisation reaction, an acid reacts with a base to give-/ IerSRr

3ifferaT & 3r, &R % ATy b1 X% ST B-

1. Another base/ 3 &R

2. Another acid/ 30 3T

3. Another acid and another base/ 3/ 3% Ud 3% &R

4. A salt and water/ TdUl T4 Sl

Correct Answer :-
« A salt and water/ ddUl Td 5Tcl

10) Suitability of a soil growing crops depends upon its-/ §&T # 37+ areil waal $t
Iyl R st B, 39%-

1. Texture/ SRTIHa W

2. Colour/ TTWR

3. Type/ UPR W

4. All of these/ IURIeT T

Correct Answer :-

o All of these/ IR gt



11) Taj Mahal is threatened by pollution from-/ ATeHgd &I ford UgUUT A WaRT IS

g 8-
1. Carbon dioxide/ ®Te- SRS S
2. Sulphur dioxide/ SO,

3. Chlorine/ a@RH

4. Oxygen/ 0,

Correct Answer :-

« Sulphur dioxide/ SO,

12) Which group of atoms have nearly same atomic radius?/maﬁa?mw
3t w=ATY] Bour U 82

1. Na, K, Rb, Cs
2. Li, Be, B, C

3. Fe, Co, Ni
4.F, Cl, Br, I
Correct Answer :-

« Fe, Co, Ni

13) Association of two different organisms in which both are benefited is

called-/ &) fira Siat % ¥ wram AR g arifaa 819 §, Feam 8-
1. Parasitic/ URwidl

2. Symbiosis/ Tgsiial

3. Nutrition/ Is0T

4. Saprophytic/ H?ﬁﬂﬁﬂ?ﬁ

Correct Answer :-

« Symbiosis/ ggiiat

14) Frictional force increases with the increase in-/ 940 9 {9 & §¢1 & 1Y 9¢d



1. None of these/%’lﬁ@aﬁ%:@
2. Smoothness of the surface/%lﬂ‘s’%ﬁlﬂﬁﬂ?[

3. Roughness of the surface/ ddg %igxq\wd q

4. Distance between two bodies/ &l fUUS] & Aeq g ¥

Correct Answer :-

« Roughness of the surface/ 9dg & Q&G 9

15) A reflecting surface is curved inwards. Now the mirror formed is-/ T&%

WIGd® TAE 32 B 3R I B 1 o Fiffa gdor -
1. None of these/ 370 Y P15 ol

2. Convex/ 3dd

3. Concave/ 3{ddd

4. Plane/ 9Hdd

Correct Answer :-

« Concave/ 3ddd

16) Black rust of wheat is caused by-/ T§  ®Ta fabg T 34T Il 8-
1. Ustilago/ 3R gRT

2. Rhizopus/ JTSSNUY §RI

3. Puccinia/ ufeafAar gr1

4. Penicillium/ UfRfer—™ gRT

Correct Answer :-

« Puccinia/ ufdaf=ar grR

17) Ascorbic acid is called as-/ WWW%—
1. Vitamin B/ facifiA B
2. Vitamin A/ faeiae A
3. Vitamin C/fderf®= C
4. Vitamin D/ fae1f@= D



Correct Answer :-

« Vitamin C/fdef®q C

18) It is easier to drink hot tea from a porcelain mug than from a steel tumbler

as-/ W & U H TH 919 B T $t g1 A 59 TP URITE $u § G- it emar giar @
wiife-

1. The porcelain mug has a handle/ e U A efsa e glar s

2. The tea will cool faster in the steel tumbler/@ﬂwﬁﬂﬂmwﬁ 31 doft T 3UST
Bl 8

3. Porcelain is a heat insulator/tlmﬁw RASIEINE @Idl%

4. All of the above/ SWRiad g+t

Correct Answer :-

« Porcelain is a heat insulator/ TRfe T & Haa 81T §

19) Which steps should be taken for the conservation of forests?/ ®I9-JT 4301 a1
& H&u1 & fore foram wir=n @nfgae

1. Ban on felling of trees/ q&haﬂaﬁéwuﬁw
2. Prevention of forest fire/ a1 3T &I b1l

3. Plantation on barren land/ soR Yf# TR g&RIgul
4. All of these/ IURIa i

Correct Answer :-

« All of these/ IWRIdd Tt

20) Acetic acid can be neutralised by-/ 3Rife® 3n< fFad gRI IeRiHIFHd gl 8-
1. Sodium hydroxide/ GifeTd gEgIES

2. Nitric acid/ TSI 3w

3. Sulphuric acid/m SR

4. Citric acid/ fiifd® s

Correct Answer :-

« Sodium hydroxide/ 9ifead gIEgIRTRS



Topic:- General Knowledge

1) Jai Vilas Mahal is situated in — / 519 fa@I Agd ®gl fRAIT 82

1. Jabalpur / SdcIgR
2. Indore / 3R

3. Bhopal / wara

4. Gwalior / IferR

Correct Answer :-

« Gwalior / qIferR

2) How many states does Madhya Pradesh share its boundary with?/ A0 UGS
3= fpam st & ATy AT TSI HIa1 82

1. Six/ 9%
2. Five/ U™
3. Seven/ 91d

4. Four/ 9k

Correct Answer :-

3) Naurata is the dance performed by unmarried girls in the region

of Madhya Pradesh./ FRdl 940U & &= # sfqanfea wrsforat gy fbar oA
CIGIE L

1. Bundelkhand/ S§eads

2. Chitrakoot/ feEide
3. Baghelkhand/ SUTRaUS

4. Malwa/ HIddl

Correct Answer :-

. Bundelkhand/ §aads



4) In which year was the Alirajpur district created?/ arcﬁﬂmg?ﬁlm%@raﬁﬁ‘wrﬁa
forar T T2

1. 2006
2. 2007
3. 2005
4. 2008

Correct Answer :-

- 2008

5) In how many districts will trees be planted under the Narmada Seva Yatra?/

THeT HaT g1 & dgd fbaq forel d U @y wmea?
1.15
2. 14
3.17

4. 16

Correct Answer :-

6) In which of the following regions of Madhya Pradesh has the world’s oldest

algae fossil been recently discovered?/ Teayes & fFafefaa &= o & forw &= & gfan
BT HEY R 4T ST g1 81 H Gioi 17T §?

1. Bundelkhand/ §aads
2. Chitrakoot/ faade

3. Satpura Plateau/ 9d4YSTUoR

4. Malwa/ HIddl

Correct Answer :-

« Chitrakoot/ ﬁﬁﬁ

7) In 1997, a India vs. Sri Lanka ODI Cricket Match at the Nehru Stadium of
Indore was suspended just after 3 overs. What was the reason for suspending



the match? / 1997 #, SR & A+ R ISUH A HRd 991 M1 P Thieady fhdbe A &1 3
3R} & 916 Freifad v f&an war 411 89 Feifad $33 o1 | 1 FRT U1?

1. None of these / sﬂﬁﬁaﬁﬁﬁ
2. Pitch was dangerous to play on / ﬁﬂ@ﬂﬁ%ﬁﬂww

3. Insufficient Security arrangements / 3$H 0T YRET HAR[T
4. Unruly crowd / 3ffFdf3a vis

Correct Answer :-

» Pitch was dangerous to play on / ﬁﬁ@ﬂﬁ%ﬁﬂww

8) In which place of Madhya Pradesh is the story of Lala Hardol famous?/ 9l

T P HETH! A U B 75w = & w82
1. Khajuraho/ @SRTg!

2. Orchha/ 3MR@T

3. Ujjain/ I=iH

4. Maheshwar/ Tg%R

Correct Answer :-

« Orchha/ 3RST

9) Who has been awarded the Kalidas Samman by the Madhya Pradesh
government for the year 2016-17?/94 2016-17 ¥ HeT YR TRPR §RT BTGRT G
¥ fordt wefera faran 82

1. Bansi Kaul/ Sl ®id

2. Anupam Kher/ &Iﬂqtf@?

3. Raj Bisaria/ 3l fagfan

4. Mallikarjun Mansur/ Ao IR

Correct Answer :-

. Bansi Kaul/ St &id

10) Which of the following kingdoms ruled Indore?/ ﬁaﬁ'ﬁﬁmmms'—cﬁ?w
R Pl Y1?



1. Holkar/ glex
2. Scindhia/ e
3. Maratha/ HIAT

4. Malwa/ HIddl

Correct Answer :-

« Holkar/ gledR

11) Which of the following medicinal plants is/are available in Madhya

Pradesh?/ fFafefad & 9 #19- a1 siwig dien 9eg udw & Suasy 82
1. None of these/ ST8 J ®Is gl

2. Gwarpatha/ TdRUIST
3. Safed Musli/ Ibe gl
4. Both of the above/ JWRIad &I

Correct Answer :-

« Both of the above/ IWIFd g

12) Who was the first Advocate-General of Madhya Pradesh?/ H&IUSRI & UYH

HgIaedr I A2

1. Kunjilal Dubey/ $uilald gol

2. P.V. Dixit/ Uit iféa

3. M. Adhikari/ TH. SffIbRI

4. Pt. Ravi Shankar Shukla/ . Ifd=i®R e

Correct Answer :-

« M. Adhikari/ TH. 3{fYHRT

13) Who was the first woman Chief Secretary of Madhya Pradesh?/ e U= H1
gt afgar g1 afua s 4

1. Urmila Singh/ 3fHern fig
2. Nirmala Buch/ ﬁﬁwg%r
3. Sheetala Sahay/ Xfddl T8



4. Sarojini Saxena/ TR T

Correct Answer :-

« Nirmala Buch/ ﬁﬂwgﬁr

14) Who among the following is known to have established the ‘Indore

Gharana’?/ FFEffad # 9 o9 'SR WRET R 31 & o1 541 Sran 82

1. Ustad Amir Khan/ 3G 3R @M

2. Ustad Bade Mohammad Khan, 3T 8¢ AlgHg I
3. Abdul Karim Khan/ 3fsgd ®_d

4. Rehmat Ali Khan/ IgHd 37eil @

Correct Answer :-

. Ustad Amir Khan/ 3%Tg 3HR T

15) Which portion of Madhya Pradesh was split to form the state of
Chhattisgarh in 2000? / AU & HIH-J HIT BT T B T 2000 A DRITE HT 74T T
FTIT I UT?

1. North Western / IR afHt
2. North Eastern / B?Ntljﬁ

3. South Eastern / E"f\&fUTqﬁT

4. South Western / cféfor afget

Correct Answer :-

. South Eastern / Gfémr gaf

16) What is the highest peak-point in Madhya Pradesh? /A% U¢X &1 3= dIdt &1

a2
1. Kaimur Hill/ &R UgTe!
2. Kalsubai/ HagaTs

3. Dhupgarh/ YUie
4. Guru Shikhar/ % RRER

Correct Answer :-



« Dhupgarh/ YUile

17) The office of Public Service Commission of Madhya Pradesh is located at:/

HAYST B AP TdT AN BT PATAY Dol U &2

1. Jabalpur/ SIS¢4R
2. Indore/ &R

3. Bhopal/ uara

4. Gwalior/ TaTfeRR

Correct Answer :-

« Indore/ $eR

18) The name of Kanha Tiger Reserve'’s official mascot is:/ ®Igl CIgR frod &
SMRIBTR® JUHR BT TH &

1. Bhoorsingh/ H:\@I‘J
2. Sher Khan/ R @M
3. Barsingh/ Y
4. Bagheera/ §URT

Correct Answer :-

. Bhoorsingh/ YRRi°

19) Rani Avantibai belonged to: /I 3GdaETS B8l 4 AR 82
1. Sirpur/ ﬁlTER

2. None of these/ STH ¥ ®Ig -Tal

3. Shajapur / RISIMYR

4. Ramgarh/ XHTg

Correct Answer :-

« Ramgarh/ XH g



Which famous personality of Madhya Pradesh is referred to as ‘Bullet’?/ g

TN & forr uRieg cafthaea 31 'gaie’ HeT Sar 82
1. Shankar Laxman/ QiR d&q0

2. Vijayaraje Scindhia/ fasrarr fifda

3. Acharya Keshavdas/ ST B

4. Anil Kakodkar/ 3{{d BTpIedh

Correct Answer :-

« Shankar Laxman/ QiR d&q0l

Topic:- General Hindi

1) gaTaaTd qul g :

1. UAgTRI® ISR

2. FAIARATUTA D IUATIDHR
3. SR SUIRIBR

4. ORIOTG JUAHR

Correct Answer :-

. UfaeRIe SuTaaR

Correct Answer :-

. TorT et & siafd

3) GfEAS’ A AUTI @ :
1.3



2. 318
3. dTs
4. 3T

Correct Answer :-

4) YYTRITT ¢ § 99 3
1. SITHIG

2. 181

3. HHYRY

4.%%

Correct Answer :-

. GG

3. 3[&u
4. 39d g4I

Correct Answer :-

. 3ad gt

6) WRY JPd 7 TH 9471 A g7 foanfy, sv R wiR ok g u=sia T wify ufea A 3 -
1. SUHT AADR

2. 3ifad 3APR

ACLRIIESRENEIR

4. JARMAET AHR

Correct Answer :-



8) Tt agY gt & fiyem &<l dF- a5 3
1. RIFNYD T

2. fa TG dRTE® S
3. feRIaIY® T
4. Tafegas ST

Correct Answer :-

« RESYSH GG

9) frswpue Hafu g :
1. 07 TR Y

2. U &R GfY

3. o HfY

4. fawt 6fy

Correct Answer :-

. foof &fy

10) Yqarw ford ¥ et 9= arelt wga Sielt 8
1. e



11) " T BT A TS :
1, dfest
2. Frdsdaht

AEER
4. 9Rq

Correct Answer :-

12) ‘Nebula’ 3T fgft TR U@ Tt 2 :
1. STGRITAD

2. AigTR®T

3. ffAi%d

4, AC-Ga gl

Correct Answer :-

Correct Answer :-



14) “3F-A9 HIAT YETd BT AR §
1. TSH-Hd HAT

2. TTAHeId BT

3. ¥ BT
4. 39d g

Correct Answer :-

. Iad gt

15) AU A TSI Aigfe a1 e :
1. AN

2. T Afed

3. 941 A

4. GXATAA

Correct Answer :-

« JHIH

16) “JAIHSH ‘ged el PR A AU 150000 e 8- AT @ :

1. SRNIAS T
2. QWINdr dlay

3. fAymar® are

4. a1 areR

Correct Answer :-

. foymam® aag

17) fafafeq o fadw ssg-gm adi e :
1. iRt



2. JAIE-3RTE
3. Rd-Sfed
4, IRg-&aH

Correct Answer :-
- Hfea-fagfaa
18) FafafRa A g o @ :
1. I B HS Ja AR 5|
2. i 3R a1 g R IR| &
3. 3P 3R B3 AV |

4. 3BT 9gd S & |

Correct Answer :-

. AT MR AT AT R R B

19) PR i T T § :
1. SUgad

2. 3TeBlq
3, 3

4. AP

Correct Answer :-

20) fagferfEa & qurfya fRendes Te-gm e 8 :
1. G-l

2. G-

3 R

4. Fal-gdal

Correct Answer :-



Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/f-’-ﬁ!d: ?ﬁ'g’é’
e 4oft § Terd ug I B

1,2,12,63, 316, 1704, 10446

1. 316

2.1704

3.63

4.12

Correct Answer :-

« 1704

2) A rectangular plot is 1,080 cm2 in area. If its breadth is 54 cm. Find its

perimeter: /T® AP R YES BT &hd 1,080 T |t g1 afe @) TS 54 AW, ot
SUPT URHTY JTd B

1. 146 cm/146 9t
2.147 cm/ 147 I
3. 148 cm/148 I

4. 149 cm/ 149 I#

Correct Answer :-

. 148 cm/148 I+

3) The roots of the quadratic equation x2+5x+6=0 are:/ fgurd Il x2 + 5x +
6 =0FYAT:

1.-4,-8

2.-5,-7



Correct Answer :-

4) If the perimeter of an equilateral triangle is 48 cm, find its area:/ gfe o
TaTg Y H1uRug 48 Tt 8, 9 ST &A% 71d B

1. 623 (2 /6293 f ey
5 63V3 (2 / 63v3 uf
3.64V3 (2 ) 643 af qefy
4 6133 (2 / 6173 uf Tt
Correct Answer :-

. 643 2/ 64V3 gf gy

5) The present ages of Mahajan and Sanjay are in the ratio of 8:7 respectively.
After 6 years the ratio of their ages will be 19:17. What will be difference of
their ages after 10 years./ WIS 3R TS &1 aaH{ 3G PT JUTd HI: 8:7 81 6 I

YT SID1 3T BT SJUTd 19:17 TR 10 T UYTA SADT 3T BT 3fcR T DIorg|
1.4years/4aﬁf

2.6 years/GEFSf
3.5 years/5 Gl
4.8 years/86|13f

Correct Answer :-
« 4 years/4 ¥

6) Find two numbers whose sum is 29 and the product is 100:/@[#@1?31?[3?\\*,
oF®T A1 29 B SR TUFTEH 100 B

1.10 and 10/10 T4 10
2.20and 5/ 20 Td 5
3.20 and 9/20Td 9

4.25and 4/ 25 T4 4



Correct Answer :-

« 25and 4/ 25 T4 4

7) A shopkeeper gives two successive discounts of 7% each on the marked
price of Rs.20,000 of an article. The selling price (in Rs.) of the article is: /T®
PG 20000 UL & 3ifhd Ted & i avg W 7% Ft &t 1A Fe a1 7| a3 &1 fapa gew
(F.¥) ®e?

1. 18,927
2.17,298
3.12,978

4.19,278

Correct Answer :-

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /e fFafufad 9oft A uyars e (2) & ®IA W @7 3T 91 w?

110, 132, 156, ?, 210
1.162
2.172
3.182

4.192

Correct Answer :-

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/fe=r: fufefad uy # ysares forg (2) & RIF W T4 31 91fige?

3800 - 22 x 1968 =~ 48 =? x 7
1.414
2.416
3.412

4.418



Correct Answer :-

. 414

10) A can do a piece of work in 12 days. B is 50% more efficient than A. In how
many days B will finish the same work?/A Th S0 &1 12 R A S AHA181 B, A BT
ST 50% 3T HT € 81 dGIIR B T8t S fpan fat o H= A

1. 8 days/8 faA
2.12 days/12 f&a
3. 24 days/24 f&A

4. 6 days/6 faa

Correct Answer :-

. 8 days/8 faa

11) In an examination A gets 10% marks less than B and B gets 25% marks
more than C and C gets 20% marks less than D. If A gets 270 marks in 500
then D get:/ &l tdem & A &1 B F1 30T 10% FH 3 fAA, B & C BT 3UaT 25% e

3P et 3fik C B D BT UET 20% FH 3 A1 i A H1 500 AT 270 F /AT D &I
foa yfaema sie fia?

1. 60%
2. 50%
3.40%

4. 45%

Correct Answer :-
« 60%

12) The average of six numbers is 32. If each of the first three numbers is
increased by 2 and each of the remaining three numbers is decreasing by 4,

then the new average is:/ B8 J@I3{ FT1 3Md 32 21 IS Ugelt 3 Fwmaii # e # 2 &t
gfs 7 &1 91T SR Ay i wEmsi d U | 4 "er fau o af = 3ivd 8:

1. 34
2.35

3.30



4. 31

Correct Answer :-

« 31

13) If (2x + 3y) : (3x + 5y) = 18 : 29, then x : y is equal to:/3afe¢ (2x + 3y) : (3x
+5y)=18:29%,d x : y N 8:

1. 3:4
2.2:3
3.1:5

4, 3:5

Correct Answer :-

« 3:4

14) A 120 meter long train is running at a speed of 90 km per hour. It will cross

a 230 m long railway platform in:/120 lﬂﬂﬁﬁwm 90 & ufa &¢ #t nfa A
Td T 8, oY 230 HeR o8 Wewn #) IR B # a8 e aHg i

1. 14 seconds/14 IHUS
2. 9 seconds/9 RS
3. 7 seconds/7 YHUS
4. 4 seconds/4 YHUS

Correct Answer :-

« 14 seconds/14 YHUS

15) The speeds of two trains are in the ratio of 7:9. They are moving in the
opposite directions on parallel tracks. The first train crossed a pole in 4
seconds whereas the second train crossed the same pole in 6 seconds. Find the
time taken by the trains to cross each other completely. /<l Y@l &1 7T BT
3UTd 7:9 213 3 AR vefal iR faudia famn # o 36 81 gt Yas) te @™ 3t 4 Abs
H UR Bl § e gast Mt St Wl B 6 Adhs T UR HXdl 81 ML &b GRT TH gax Bt T
TRE UR B3 H o a1 99d 91d B

1 1
5— 5— .
1. 8Seconds/ 83dFs



1 1
2— 2— .
2. b6Seconds/ 63TGS
1 1
4— 41— .
3. 8Seconds/ 8d&s
1 1
3— - .
4. 6Seconds/ ©3TGS

Correct Answer :-

1 1
5— 5— .
. B8Seconds/ 83%s

16) The number of composite number between 101 and 120 are:/101 MR 120 &
ot @t Sygad S@ fera- giRit?

1.13
2.12
3.14

4. 11

Correct Answer :-

17) 3 1

Divide ¥ 6800 in two part so that S.I. on the first part for Eyears at 6% p.a.
1

will be equal to the S.I. on the second part for Eyears at 4% p.a./T 6800 &I gl
1
. : 3z .
YN & $9 UHR 9I1eT P Ugd T IR 6% TTYG AT BI e T 3 a9 H AIYRUT 4TS, gO¥ YR W
1

32 ad & 4% aTftiep TSt 3 ¥ & WIURY T F ISR A
1.7 2600, % 4200
2. % 2800, T 4000
3.% 2500, T 4300

4.3 2700, % 4100

Correct Answer :-

- 32800, % 4000



18) A labour can do a job in 50 hours. After 5 hours he takes a break. What
fraction of the job is yet to be done?/ T® Huigs U® HTH 50 He H Hear gl 5 Ue d1¢ a8
=T <iar 81 S8 &1 fBaam YRt 3 3t oft BT Il 22

1.0.75
2.0.8
3.0.9
4.0.5

Correct Answer :-

« 0.9

19) Find the smallest of the following fractions:/fAafefaa fial d & 9 Bidt fi=
K EF

20
| 500

18
5 484

15
3, 408

18
4. 360

Correct Answer :-

15
. 408

20) Find the largest of the following fractions:/fAafefad fasi # § 9aw a3t U= 9@
P
6

1. 35

13

2, 69

19

3,96

21

4 113



Correct Answer :-



